N = 0l & AF & F Al A

201285 =0lat LeSIA L JIEHSERH MaISXIL ~ AEIS X

S AEI= XD
BE: =X0lY 25

Sl Hos M KR (S5l &2
] _ - HEC =
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
NEESn 12,563,422 12,554,481 8,941
=2 8,739,882
Al 2,055,041
2 1,768,499
=X0IEE S 2,082,448 2,023,968 58,460
= 253,382
Al 633,433
2 1,195,633
HotHE ME N 1,046, 140 1,034,802 1,338
= 253,382
Al 633,433
2 159,325
ZOMBAMHA 28 U B2 e 11,220 10, 170 1,050
201 YEr2gy| 9,220 8,170 1,050
01 At 22|t 9,220 8,170 1,050
OFIME NAMHIA S22RE
800, 0002 *13] 800
OXIHASI =TI HE %t AIHIE ol
10,0002 1002 1,000
OXHAS BolH HESAM A% 42
70,0002 #1724 *43| 4,760
OXEAIS ASEH S8 +<
70,0002 #19% #25| 2,660
203 YR E=FY| 2,000 2,000 0
03 AI&=ZI 2= XYl 2,000 2,000 0
OMEXH AMEX 2,000,00024 2,000
ABIZTIAIE X 1,000 4,000 A3,000
401 Al & HIL 2 THH| 1,000 1,000 0
01 Al& 8] 1,000 1,000 0
OZFEZSASISTR A2 1,000,008 1,000
KRS AME X2 38,800 27,800 1,000
Al 16,900
2 21,900
307 212+01 & 38,800 27,800 11,000
Al 16,900
2 21,900
05 QIR I3 38,800 27,800 11,000
OXAEZSAME 29 38,800,002 38,800
Al 16,900
2 21,900
OITHEl & #aiXt 75 6,000 5,000 1,000
201 LBt | 1,000 1,000 0
01 AtR 22|t 1,000 1,000 0




SN
X XH .
S Tt

ok

NEEyn!
=X0I8 E
FoHS 4E X8

SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4
OQ#AMYL S1DZ 1,000, 000& x 13| 1,000
301 etE a3 4,000 3,000 1,000
01 At 2E X =6ll3 4,000 3,000 1,000
OHeAAZR FolH] 500, 000& 8= 4,000
307 2I2toI ™ 1,000 1,000 0
01 d=E P =H] 1,000 1,000 0
OO0l 2ig+=Hl 1,000,000& 1,000
A SAHE A XA 46,392 44,172 2,220
= 23,196
- 23,196
307 2I2toI A 46,392 44,172 2,220
= 23,196
- 23,196
05 BIZtRIE S 46,392 44,172 2,220
OX3A=SAt BEEZ 11,292,000& 11,292
= 5,646
- 5,646
OXESAH 2CIUIOIE XI& 35,100, 000& 35,100
= 17,550
- 17,550
NRASAtEAS T2 08 e 10,000 10,000 0
Al 10,000
307 SI2H0| & 10,000 10,000 0
Al 10,000
10 AL =X X 10,000 10,000 0
OEZ 0 Y At 10,000,000& 10,000
Al 10,000
MHIA S 84dst K& 4,116 5,416 A 1,300
201 L EH2FH| 4,116 5,416 A 1,300
01 AR 2teld| 4,116 5,416 21,300
OAZE 5222 21 #E AE 8,8002+203] 176
O=2AMY et 222 HZE 1,000 +1,0000H 1,000
O=sXa &8¢ 70,0003 x21H »23| 2,940
MEEXAE HREX 15,840 19,800 23,960
Al 5,280
- 10,560
301 et a3 15,840 19,800 23,960
Al 5,280
- 10,560
09 SU2RRIALLS 15,840 19,800 23,960
OMIIEXAE 22 3UZRE Ba3(54A
Bl) 5,000& x222 «12& x 12 15,840
Al 5,280




S APSI= X
BE: =X0lY 25

el F oS ME XE (el a2
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
| 7 10,560
A =X EREX 14,520 18,480 A 3,960
Al 7,260
- 7,260
301 et A3 14,520 18,480 A 3,960
Al 7,260
- 7,260
09 SUZLRLIABAZ 14,520 18,480 A 3,960
OAZI 2222 2AHH|(ZAH])
5,000 *222 #1220+ 112 14,520
Al 7,260
- 7,260
JZZECM3 29 2,000 2,000 0
Al 2,000
307 QI2t0| & 2,000 2,000 0
Al 2,000
05 QIZtREZ 2,000 2,000 0
OJIZFEWI2H 2,000,000& 2,000
Al 2,000
=7 SAHS 12,000 12,000 0
201 2et2Hb| 11,000 11,000 0
03 HAI2H | 11,000 11,000 0
o8g - &&x S Xt 1,000,000& *13] 1,000
OHAMAIE (EE S, HME2) X
100, 000& *454 4,500
O A= 2 H| 3,400
o8 HE 30,0003 *800H 2,400
o8 =g M 200& x5, 0000H 1,000
OEFEE M= 15,000& *20H 300
OEAb SAHX S AHH| 400,000& *3¥ 1,200
OJ|Et A2 GHI 600,000 600
401 Al EHIL 201 b| 1,000 1,000 0
04 S AF2tEd Al A H 1,000 1,000 0
OR04 #Xbl 1,000, 000& *14] 1,000
ME=R R 2 488,242 447,890 40,352
Al 466,642
- 21,600
307 212+01 A 488,242 447,890 40,352
Al 466,642
- 21,600
05 DIZtREZ 488,242 447,890 40,352
OAM3 =X 29 466,642 ,000& 466,642
Al 466,642




S APSI= X
BE: =X0lY 25

Sl HUNE M N (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
SEENEENEE
10,0002 * 182i*128 21,600
SECH X2 1,000 1,000 0
201 LEr2 Y| 1,000 1,000 0
01 ALR 2l 1,000 1,000 0
OFE9 Y HAHZAMT S) 1,000,0002 1,000
DI OFF CHE =X 49,440 47,562 1,878
= 24,720
Al 12,360
2 2,360
101 01214 49,440 47,562 1,878
=2 24,720
Al 2,360
2 12,360
UPIEREES=TPS 49,440 47,562 1,878
OAMBISXSBNUIATSRAAY (2P
2, S25Y+Y S EE) 49,440,000 49,440
= 24,720
Al 12,360
3 12,360
Ko s (0FSQIX) BHRH AL 30,473 30,000 473
= 21,331
Al 9,142
307 212+0| & 30,473 30,000 473
= 21,331
Al 9,142
05 I2¢9IEt 2 30,473 30,000 473
OXI2 H A U2 ALY 30,473,0002 30,473
= 21,331
Al 9,142
NSAEAMEIA RIHHLE SR 254,657 290,730 36,073
=2 178,915
Al 51,239
2 24,503
201 Yut2 | 2,182 2,182 0
= 2,182
01 ALR eIt 2,182 2,182 0
OXNSNLE BI2H 22| 2,182,0002 2,182
=2 2,182
307 212H0| & 252,475 288,548 £36,073
= 176,733
Al 51,239
2 24,503
05 Q29I 252,475 288,548 ~36,073
OB ML U2 H AL 89, 20,0002 89, 120




S APSI= X
BE: =X0lY 25

Sl HUNE M N

_ _ _ HE T =
SN EHH . H(EH) - NEAY - BES Of) &k o 0l ot o Hm= 2
=2 62,384
Al 26,736
OIEZNLEU S ALY 163,355,000 163,355
=2 114,349
Al 24,503
2 24,503
ZCoo 29 A4 50,000 50,000 0
Al 50,000
307 QI2+0| & 50,000 50,000 0
Al 50,000
10 MB2XEE 50,000 50,000 0
OZcoz 29 50,000,000 50,000
Al 50,000
ARIZRIALY 29 X 10,440 8,782 1,658
=2 5,220
Al 2,610
2 2,610
201 Y2 A 3,132 1,756 1,376
=2 1,566
Al 783
2 783
01 At 22| 3,132 1,756 1,376
OAFIZ2] 3loa2 S JIEI2gH|
3,132,0002 3,132
=2 1,566
Al 783
2 783
301 Y2 A= 7,308 7,026 282
=2 3,654
Al 1,827
2 1,827
01 ALBI B &R 25 2 7,308 7,026 282
OAHHIZ 2] Abdtl 7,308,000& 7,308
=2 3,654
Al 1,827
2 1,827
ZOASKR L MEOIN)|Z2(ZTUASKRALUMEOLE 1,026,308 979, 186 47,122
J2)
MELOIN )2 22 226,308 179, 186 47,122
201 L2 A 980 980 0
01 At 22| 980 980 0
O8X2 ot E82 M 2502 *4000H 100
OHLR SIREE L322
1,0002 *1024%23] 20
OME X AR S)IEE 42
2,000 102 20
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X XH .
S Tt

ok

NEES
=Xl 1

= = =

>
fo
o
N
S
oy
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. _ o FSJE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
SEIEEREEEEEEEEE
70,0008 %42 +33] 840
202 04t 300 300 0
01 2L 01 bl 300 300 0
OJ| ML &S EZ0i 300,008 300
501 X2 225,028 177,906 47,122
01 BI2tS X2 225,028 177,906 47,122
OFpIASKE ¥ MBOHHIIZ SX
225,028,0002 225,028
OBl W e 800,000 800,000 0
801 0/t 800,000 800,000 0
01 0l bl 800,000 800,000 0
O0lHI bl 800,000,000 800,000
NASE =2 10,000 10,000 0
NASZO HAXZ 25 10,000 10,000 0
305 B &2 S 10,000 10,000 0
01 a2 S 10,000 10,000 0
ONMASZED HMAZ 22 10,000,0009! 10,000
NASE M8 oy X & 7,078,305 7,058,283 20,022
= 6,249,222
Al 610,698
2 218,385
ssxe 22l 213,080 213,080 0
= 169,104
Al 21,133
- 22,833
=L 1,000 1,000 0
201 YLpt2 A H| 1,000 1,000 0
01 AFR 2 2lH] 1,000 1,000 0
OINZMEBIAY AN 7Y
1,000,0002 1,000
8= 212,080 212,080 0
=2 169,104
Al 21,133
2 21,833
201 YBt2 A H| 700 700 0
01 AFR 2 2lH] 700 700 0
O 2BNAMYLH £ 70,0008 5% =23 700
301 LB A3 211,380 211,380 0
= 169,104
Al 21,133
2 21,133




A AR S X1
M JASZE ME OIF X™

LS o= o

crel: SEXY 22 EEEE
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
01 ABI 2R R AH 2 211,380 211,380 0
OAZ=X A 211,380,000 211,380
=2 169, 104
Al 21,138
= 21,138
IEMBADT XA 6,642,591 6,628,633 13,958
=2 5,905,307
Al 545,409
, 2 191,875
22X HAHS KA 95,870 99,260 A3,390
Al 95,870
301 Yt A 95,870 99,260 A3,390
Al 95,870
01 ABI 2R R 4H 2 95,870 99,260 A3,390
OgSoh=| 9,950,000 9,950
Al 9,950
ORSRYD 85,920,000 85,920
Al 85,920
DE20f 309,382 301,660 7.722
= 278,444
Al 21,657
= 9,281
301 Yt A2 309,382 301,660 7,722
=2 078,444
Al 21,657
2 9,281
01 ABIE R R 452 309,382 301,660 7.722
ORZZ0 309,382,000 309,382
= 278,444
Al 21,657
2 9,281
42 2 0f 4,930,741 4,820,798 109,943
=2 4,437,668
Al 345,700
2 147,373
301 YR A 4,930,741 4,820,798 109,943
= 4,437,668
Al 345,700
= 147,373
01 ALBI 2R R 452 4,930,741 4,820,798 109,943
OMH B 4,930,741,0002 4,930,741
= 4,437,668
Al 345,700
=) 147,373
=120l 1,142,023 1,231,915 £89,892
= 1,027,820




SH: AEI= XD
HE: HASE 4T OF X
Sl JIEMELST XA (S5l &2
_ - HEE =
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
A 79,042
2 34,261
301 YR A 1,110,023 1,199,915 189,892
= 999,020
Al 77,702
2 33,301
01 MBI 2 HH 462 1,110,023 1,199,915 89,892
OFAHZ0I(832) 1,110,023,0002 1,110,023
= 999,020
Al 77,702
2 33,301
307 21201 & 32,000 32,000 0
= 28,800
Al 2,240
2 90
05 I2t9IEr 2 32,000 32,000 0
OFAHZ0(E2) 32,000,0002 32,000
= 28,800
Al 2,240
2 960
oA E T S O 32,001 29,862 2,139
= 28,801
Al 2,240
2 960
301 YBHBA S 32,001 29,862 2,139
= 28,801
Al 2,240
2 960
01 APSI B B = 453 32,001 29,862 2,139
OBHAZRIZ O 32,001,0002! 32,001
= 28,801
Al 2,240
2 90
IEMEEY 23N BRYR 132,574 145,138 ~12,564
=2 132,574
301 YBrE A2 132,574 145,138 ~12,564
=2 132,574
01 AHSI BB 2513 132,574 145,138 ~12,564
OJZMEL2N $2E 132,574,0002 132,574
= 132,574
AARHES NS AL 18,840 18,940 A100
= 13,376
Al 3,792
2 1,672
&2 XASANS KA 2,120 3,740 A1,620
Al 2,120
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el

A&l = X Dt
HASS M8 oF X2
AAANE T2 AL

L RE-E

SRS - HRAY - B2

[
2

20
B
2

Al

2,120
2,120

3,740

A1,620

1,000,000&

1,120,000&

Al

Al

2,120
1,000
1,000
1,120
1,120

3,740

A1,620

16,720
13,376
1,672
1,672

15,200

1,520

4= 4

16,720
13,376
1,672
1,672

15,200

1,520

16,720,000

4 = A}

16,720
16,720

13,376
1,672
1,672

15,200

1,520

4 = A

203,794
161,435
40,359
2,000

197,630

6,164

= W

201,794

161,435
40,359

195,630

6,164

101 1244l

63,098

50,478
12,620

58,856

4,242

o2z 0 22l A
)

ki
o

0Q fru

il
on o
R

0o U

4 Io

04 JIZMZ2Z2ASE =+

= W

= W

63,098

55,656

44,524
11,132

7,442

5,954
1,488

58,856

4,242

[he)
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1o
I
0
0
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12,141

9,713
2,428

11,750

391

01 AtR2telH

O2d=s0AE 222 M

s 11,721,000&

12,141

11,721

9,377
2,344

11,750
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A AR =X
MM HASZE= Ms o X9

_\% o =2 —_ o
=R NASE A2 X2 A

(9220{212) LR
_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol & oK 'oﬂ/'\_WH HunsZ
P EEELPEEEEE-EESE
70,0002 *3% %23 420
2 336
Al 84
202 OF Hl 6,640 6,494 146
2 5,312
Al 1,328
01 ZLHoHI 6,640 6,49 146
02220 DKUY 2,160,000 2,160
2 1,728
Al 432
0220 Z2IAF 2] 3,840,000 3,840
2 3,072
Al 768
OF MBX 7P £TAE =010{H 640,000 640
2 512
Al 128
307 9I12+0| & 117,915 113,930 3,985
2 94,332
Al 23,583
01 9 2LR2H| 117,915 113,930 3,985
OB220 At 70,638,0002 70,638
2 56,510
Al 14,128
OAL e S| 47,277,000 47,277
=2 37,822
Al 9,455
405 Kt AHE S 2,000 4,600 A2,600
2 1,600
Al 400
01 XAt L 2E 3 SH| 2,000 4,600 2,600
0222088 LE= 2,000,000 *1CH 2,000
=2 1,600
Al 400
OlHI= TR 22 2,000 2,000 0
801 0/ HIHI 2,000 2,000 0
01 o HIb] 2,000 2,000 0
ool bl 2,000,000 2,000
s Wy N 190,420 190,420 0
stm WE AHl X 190,420 190,420 0
DSt 015t 1S HH N 190,420 190,420 0
201 Y2 420 420 0
01 At 22l 420 420 0
o923 +g 420
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SN
X XH .
S Tt

ok

AVEI= X1 B
ool =2XEA
Zojel =X

SA B SE) - MBAY - HYS 01l &+ o e HDZ
Zojel Aol 5T 1,164 964 200
201 YLpt2 A H| 1,164 964 200
01 AFR 2 2lH] 1,020 820 200
O+stse+y 50,0002 *2Al 2+453] 500
OBWARNSIHENTYS 8002 =4000H 320
ORFLAMSHZTY 200,000% * 14 200
02 B2 144 144 0
OYMMSIIRRR2IH 12,0008 *128*1CH 144
ZOHIRIGHO 22XAT KN 22,700 19,200 3,500
Al 8,000
3 4,700
307 £I2H0I & 22,700 19,200 3,500
Al 18,000
2 4,700
10 AbBl =X 2 X 22,700 19,200 3,500
OZjeIxSYel 22xH X &
22,700, 0002 22,700
Al 8,000
3 4,700
& of 42 178,762 178,762 0
=2 125,133
Al 53,629
301 YerE Az 178,762 178,762 0
= 125,133
Al 53,629
01 MBI 2 HH 462 178,762 178,762 0
o= 178,762,000 178,762
= 125,133
Al 53,609
Zojel WEs 53,460 56,770 £3,310
Al 53,460
301 YerE A 53,460 56,770 A3,310
Al 53,460
01 MBI 2 HH 4612 53,460 56,770 A3,310
OFOHO HELEY 53,460, 0002 53,460
Al 53,460
D04l XA Bl X & 1,973 1,973 0
= 1,578
Al 395
301 YerEaa 1,973 1,973 0
= 1,578
Al 395
01 AFEI 2 &= 2513 1,973 1,973 0
OFmojel T DY 1,973,0002 1,973




SA: ARSI XD
Ha: Fojel =2XEA

col Fojel ZXNEA CERCE
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES (il & OH '@,‘;OH Hlw &2
= 1,578
Al 395
ZoHol o2 N 111,238 102,000 9,238
= 83,990
Al 22,248
301 LBrR A 111,238 102,000 9,238
= 83,990
Al 22,248
NEEEEPETE 111,238 102,000 9,238
OFMel oz 111,237,7002 111,238
= 83,990
Al 22,248
ROl SZRCH| 1,070 1,400 A330
= 535
Al 535
301 LerB A 1,070 1,400 A330
= 535
Al 535
01 ALS BB E 4513 1,070 1,400 £330
OFMOl S=TcHY| 1,070,0002 1,070
= 535
Al 535
ZOfQILEI T B 1,837 1,387 450
= 1,470
= 367
301 UBrR A2 1,837 1,387 450
= 1,470
= 367
01 AbSl BB = 4513 1,837 1,387 450
OFNQ MHE 2EI|I7 1,837,000 1,837
= 1,470
= 367
Tofol EALSALE 29 N 51,395 48,560 2,835
Al 51,395
307 Q20| A 51,395 48,560 2,835
Al 51,395
10 At =X 2 X 51,395 48,560 2,835
OFNQ FASSAIL 2YH  46,835,0009 46,835
Al 46,835
OFMNE FALSAL M=K+
4,560,0008 4,560
Al 4,560
ZOHQANATHEA L 2 X 150,885 131,802 19,083
Al 150,885
307 QI2H0I 150,885 131,802 19,083




SA: ARSI XD
Ha: Fojel =2XEA

el ROHQ SRS (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
A 150,885
NREENEES 150,885 131,802 19,083
OFOHOl ZATHBAIL 2Hl  130,716,0002! 130,716
Al 130,716
OTIHZ Of I E Al 20, 169,0002 20, 169
Al 20, 169
B OHQI 2 S X2 ALY 198,876 252,966 54,090
=2 137,596
Al 58,970
2 2,310
201 LBr2 | 2,310 0 2,310
01 AL 2relHl 2,310 0 2,310
O4SXHAIR £ 70,0002 28 <123 1,680
OO0l AR 4o 70,0002 *3% *33] 630
307 RI2+0| & 196,566 252,966 56,400
=2 137,596
Al 58,970
05 I2t9IEt 2 196,566 252,966 56,400
ORI ZEX A AL 196,566, 0002 196,566
= 137,596
Al 58,970
EERHASSREX R 5,760 19,200 A 13,440
Al 5,760
307 BI2+0IH 5,760 19,200 A13,440
Al 5,760
05 I2teIEt 2 5,760 19,200 A13,440
OFOQl HEEE AlHIZIIXIR AL
5,760,002 5,760
Al 5,760
Z=ROfl IR0 482,578 512,573 £29,995
= 337,805
Al 144,773
301 YuHB A3 482,578 512,573 £29,995
=2 337,805
Al 144,773
01 AEI BB X263 482,578 512,573 ~29,995
OZZZOjOl JIEZOHHD 482,578, 0002 482,578
=2 337,805
Al 144,773
& 01 Q1 U KH2) A2 121,089 127,929 6,840
= 60,545
Al 60,544
301 YEHB A 121,089 127,929 6,840
= 60,545
Al 60,544




©OARRI =X
e =Xsd
Y SXSA
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i

=1
R
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21,054,000&

100,035,000

=

121,089

21,054
10,527
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100,035
50,018
50,017

127,929

HOHOtSIIE X &
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44,058
18,882

62,940

307 2IZ2tol &

= W
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44,058
18,882

62,940
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e
e
0
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fu o op

O
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e
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O
0 e
=

58, 140,000&

4,800,000

= W

= W
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58,140
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40,698
17,442

4,800
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3,360
1,440

62,940
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o
e
ton
Ho
02

bl XI&
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17,000

17,000
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W
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e
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0z
re

Paa
=
18
Paa
0

0
0z
2
e
-

O O
0
W22 2
2 S o
o
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i
¥ o s
O Coe
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e
o

0

12,000,000&
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A AR =X

HE: HASHES [E X
Sl HASHE RE - T2 XL (sl &
i _ . rSJEL== -
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
01 At E2E " =6l 3 89,808 89,808 0
OFN-F e =) 89,808, 000& 89,808
= 80,827
Al 6,287
- 2,694
g2z 1,309,423 1,309,423 0
= 1,178,480
Al 91,660
- 39,283
401 A& HIZ 2 CHYI 1,309,423 1,309,423 0
= 1,178,480
Al 91,660
- 39,283
01 Al&H] 1,309,423 1,309,423 0
OXEIZAE 1,309,423,000& 1,309,423
= 1,178,480
Al 91,660
- 39,283
AU ELY 2 ER0IAS 18,763 18,765 A2
= 13,135
Al 2,814
- 2,814
307 2I2toI A 18,763 18,765 A2
= 13,135
Al 2,814
- 2,814
05 BI”tRIEE 18,763 18,765 A2
OIIMNLHEL 2RO 18,763,000& 18,763
= 13,135
Al 2,814
- 2,814
MIEESEZZ2OHY 368 0 368
= 331
Al 26
- 1Al
301 Yo A3 368 0 368
= 331
Al 26
- "
12 JIE2 A3 368 0 368
OMIESEZZ O Ald] 368,000& 368
= 331
Al 26
- "
NS THade X2 188,620 188,620 0
= 123,466
Al 65,154
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By HASHS U &
S HASHES X MY e (Erol: @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
307 QI2H0I & 188,620 188,620 0
2 123,466
Al 65,154
10 AlRISXIEX 188,620 188,620 0
OXNAX&dH 22| 176,380, 000& 176,380
= 123,466
Al 52,914
OXNAX&dH HNA=SK = 12,240,000& 12,240
Al 12,240
MNASHE HEXE 420 420 0
201 get2dd| 420 420 0
01 A2 22l 420 420 0
OXEII 2o &= 70,000 +x6H*12] 420
22ssUs 4209 ZAEN(AYISER) 48,822 48,822 0
= 43,329
Al 5,493
301 LPBAS 48,822 48,822 0
2 43,329
Al 5,493
01 AR EEH £=0dl= 48,822 48,822 0
O3aW|I=s% 48,822,000& 48,822
= 43,329
A 5,493
HY2HZHI(ASI S X DH) 66,598 65,598
=2 66,598 65,598
SBICET 66,598 65,598
201 get2Ad| 9,558 9,558
01 A2 2teld 9,558 9,558
ORAM=2 279,000 18 5,022
oIl 7,002 x341 182 122 4,536
202 44| 51,840 51,840
01 S LHAObI 51,840 51,840
0l 240, 0002 * 18 * 122 51,840
203 R =& 4,200 4,200
04 EN29 4,200 4,200
(OLVNES 350,000& «12& 4,200
405 THoHE S 1,000 0
01 MM =SZFH=HI 1,000 0
Oo=Zed 1,000, 000& = 1CH 1,000
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